1020195 52 132 RY

Ok
=

e
= T 42
(Gh==s 2=H)

3ezszz 498,000 5H

FoforYa|x| ot 4,980

4210 0=

b 72E FHEHUA 3 AT
SEIME I HSIHE SES/AM, 7IM710|=2H|, S=H(xt

UY : HF-HEIHSUABILE)-HeHE

ﬂ.'-?—ﬂ%*’.‘i’é‘ £ + Mt

|= AI- 4 ?E|
6/5,12,19,26 798,200

fFoiotd2|x] of 7,982%

9/11,19,25 898,200

FojorUa|x| of 8,982%E

7/3,10,17 8/7,14,21,28 998,200

E0{ora| x| 2k 9 98272
(=]
7/24 1,098,000A
Eoforda| x| 2F 10,980 E!
b 3, TH0IS U 710 2| B8 F545Y, S 28] HADA|
U HFE-RE()-0l= 5t Q-EE-HE

_I

04 7HOIX154_‘,IE|
ED| e

'4
Al2|oK2011 8

25 28 20 201= 212 2%
OICIA| RLISH=R| DAl &£

ZMIJI M20IeAL @

XISk X
—lc

_ §4°' 4~53 LEEe

151935001

(F)Ho[oto [, (F)-2tF0] 2247 EE T

EH%*%% HIZ==15t

274 Ef5HAL 52
4/24 817800 )

fFoiorYz|x| of 8,178%E

el AE|H|0lE

UM M2 4-EfEh

224K

* 27 HAsa» [EEEEETN
H 7 ol
= c:>| 4E o
42-1020 ey 91780025 H
(3602 EHHIt 22 01AE] , of zrz% |8 Folnidalx] & 5178xE
2|97 WA 254 28 OAZE |, 16t DRI HOIZTHAAL
oM M - 24 A
* 2fSHall7 X%
ol
Hz=s4) 4
32 ~02 (M2 &) 7906002 SH

AL+ SN Sofatelelx| 27,9065

EtHA 2|XE/H0IY CHE H|H /M2l 2/ B2 7t

- M

%*-'-(.’F.EE)/EFEFOF(EEE) 52l
42 - 58 (s 793900H 52 H

] E0{oka| x| 2f 7,950%12)
E3 : (AT33| HAHHSAIRAZHLI AR T Z+2S
U HE = el 3 R

»steraix« [T
o*--/u}Elot EZsd) 5Y
49 - 58 (=) §959003FH

ofordz| x| of 8,959XZ
5 ﬂg+°+7}x|ﬁ02 M +’.‘J2”-I—"1;“'E|I|+q71|3|EEH7|+°H]}2A|7|+A|E|.,.01
O

e e

6857 EoliEpks

$'°I'E-IE#'EIHI.EI'9H EI 50I
42~ (Oh= 3= &) 799 ﬂﬂﬂd“Ei

S0{012E[x] % 7,990%2)
(S84 44) NS IUC 3 MU IR ERE IS S SR/ ARTI0A
B e

é gl el B S ] =R =R (RS
6HEJ}
— s —
FUEES/AEF+AT[ES 5Y
48~0 (1 3H/= &) 990%999%;?33

(THI=S TINZHZEHEESY RERSY 1) HEAY RENBRREDIEHEZIKLCC 45
o R FYBIERE Lot g e T

—2HA|S

I 99,000

21M hE3 5

Zo[3+ o222 20194 5 AlstHO 2

*If7|REHE x
CHOH SR /A EOFR/A|SH 4
42~102 (1= 374 =) 699,000H45H

EX: EA 53 AH HE S0{0}2R] of 6.990%2

=

R e TR
8HE}
CH2t EFO {01 /S12/OFR/ K| PH/AH 42

38~108 (hxsh+/E =) 1990008 5H
EX: (710|= Y 7|A} ZH| 2 Sofnela|x| o 79905
HI01L S+ LTIAT k TS 2/OMA B U Z M+ S22 OBBO/MEAE

U RE-CDH-312-0 R X IR E-AT-HT

[uaoi]
sd/si3aYl/32s501 4L
48 ~ 102 (1= =/ ) 98780025 H

Sofojelz|x| % 987852
EH : (7IA/7101=ZH] ZEHSZ ALHEO{orCI XLIHE EHf
U A-S 2R RN AR AR B D - RRHY-SZHE

Al & o
==

EAP}/L}E.HM.E or USJ 4
48 ~ 102 2= 10978004 S

Foford2|x| o 10,978 M
EH 1 JHIE X 7INZH 28 MUY EAS + AL 2R SUFRAE E or US) 41
I HE-SApi-Li-iE-oAF-HE

2+ 53EY

796,600H

= 4304009~

HIRCH

2619|4.g”==u| Ilig};_] i
S ic= -

Y718, FOIMehE, ’é MI 01|—I=' SF MNEH S

R Ho| ST,

[E2) 2134552 HMp)

1490, 000

Iil¥ B HUHIE 0183 16/6=) 5
’é’ 240l Mot AHIE 6/10(2) JHI

&} 14:45 St
25} 1755 &

HEEY, S2HIES SR OSMYLY, OJHE S} 7|zt Sesu;
 HISXIERIEY 501, SBR20! M3, A2y

: DILILE SN, SRS, Hnjo|of, A2t

 SRHIES HB, A7IATT, TSAMIST, DORIARE

D ZIEIAIR) P2t SEHIES SHt R S

(=) LI 2= 0] T.753-6633

IMI 749-6889 I

B, HBE AME, U ALY, ST, JIAII0ISE 23

(F)HIOIOK

SEEALE oIz




